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Wykaz drzew do wycigcia
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Zatgcznik nr 3

1 | 38 sosna

2 2 0+570 38 16 sosna 0,75
3 3 0+600 31 14 s0sna 0,46
4 4 0+602 50 18 sosna 1,62
5 5 0+608 34 14 brzoza 0,52
6 6 0+668 45 14 sosna 1,03
7 7 0+685 51 18 50sna 1,67
8 8 0+714 23 o b sosna 0,43
9 9 0+738 28 12 brzoza 0,31
10 10 0+742 45 8 dab 0,72
11 11 0+750 36 11 sosna 0,47
12 12 0+761 42 12 s0sna 0,71
13 13 0+929 47 8 dab 0,79
14 14 0+957 51 11 brzoza 0,80
15 15 1+027 24 7 akacja 0,16
17 17 1+0435 38 14 508Na 0,66
18 18 1+069 22 7 akacja 0,16
19 19 1+071 22 7 akacja 0,16
20 20 1+085 B 4 10 brzoza 0,64
21 21 1+167 18 b $wierk 0,06
22 22 1+170 18 6 s0sna 0,07
23 23 1+173 18 6 $wierk 0,07
24 24 14209 30 6 jesion 0,20 -
25 25 14270 16 6 dagb 0,07
26 26 14274 13 6 s0sna 0,04
27 i 1+338 23 9 $wierk 0,18
28 28 14344 18 6 Swierk 0,07
29 29 14347 19 6 Swierk 0,08
30 30 1+391 17 8 dab 0,10
3l 31 1+394 20 6 Swierk 0,09
32 32 1+398 22 8 $wierk 0,15
33 33 1+404 16 6 Swierk 0,06
34 34 1+407 17 6 Swierk 0,07
35 35 1+408 15 6 Swierk 0,05
36 36 1+432 28 7 dab 0,24
37 37 14438 16 6 dab 0,07
38 38 1+458 21 3 dab 0,06
39 39 1+466 22 7 dab 0,15
40 40 1+467 15 6 dab 0,05
4] 4] 1+487 52 11 dab 1,33
42 42 1+492 65 14 s0sna 2,21
43 | 24a 1+508 50 14 s0sna 12,6
44 43 14523 37 11 s0sha 0,53
45 44 1+528 61 14 sosna 1,94
46 45 1+534 55 15 508na 1,67
47 46 1+538 36 15 $08na 0,68
48 47 14552 52 10 dab 1,21
49 48 1+616 48 6 dab 0,61
50 49 1+745 48 18 sosna 1.53
51 50 14750 38 12 508na 0,56
b 51 1+751 33 10 s0sna 0,41
53 52 1+760 53 16 50814 1,61
54 53 14779 45 16 sosna 1,18
a3 54 1+782 25 6 dab 0,16
56 55 1-+802 17 q 508Na 0,11
57 56 14805 15- 2 brzoza 0,02
58 57 1+807 45 13 sosna 0,96
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59 58 1+834 40 13 508Na 0,75
60 59 1+838 45 17 s0SNa 1,25
61 60 1+849 43 16 508Na 1,08
62 61 1+858 49 16 s08Na 1,38
63 62 1+865 37 7 dab 0,42
64 63 1+866 37 7 dab 0,42
65 64 1+875 38 15 $08na 0,78
66 65 14907 | 62 11 dab 1,92
67 66 14911 42 8 brzoza 0,45
68 67 14916 37 8 dab 0,48
69 68 14925 52 17 sosna 1,64
70 69 14927 25 6 dab 0,16
71 70 1+954 31 3 dab 0,13
72 71 1+958 14 2 dab 0,01
73 72 1+975 83 10 dab 3,14
74 73 24067 73 15 sosna 2,95
75 74 2%117 15 2 dab 0,02
76 75 2+130 40 10 modrzew 0,44 .
77 114 24464 10 2 s0sna 0,006
78 115 2+469 10 2 sosna 0,006
79 116 2+471 10 2 brzoza 0,005
80 117 2+473 10 2 brzoza 0,005
81 118 2+476 10 2 brzoza 0,005
82 119 2+478 10 2 brzoza 0,005
83 120 | 2+480 15 2 wigz 0,02
84 121 2+482 15 2 Wigz 0,02
85 122 | 2+482 10 2 brzoza 0,005
86 123 24484 10 2 brzoza 0,005
87 124 2:+485 15 2 wigz 0,02
88 125 24500 15 2 wierzba 0,02
89 126 | 2+504 80 1 wierzba 0,17
90 127 24512 80 1 wierzba 0,17
91 128 | 2+520 70 1 wierzba 0,14
93 130 | 2+548 60 1 wierzba 0,11
94 131 2+560 60 1 wierzba 0,11
95 132 | 2+566 60 1 wierzba 0,11
96 133 24572 100 3 wierzba 0,48
101 | 138 2+604 60 7 lipa 0,86
104 | 140a | 2+611 35 3 lipa 0,12
133 | 169 2+765 72 6 topola 0,94
335 1 171 2+780 27 3 olcha 0,14
137 1 173 2+783 55 5 topola 0,47
138 | 174 2+789 66 6 topola 0,80
139 | 175 2+795 39 4 grusza 0,23




